
396-5529Y1 - Hitch Mounted Tank Page 1 Revised: 1/24/2024 
Adapter Plate Mounting Instructions © 2024 SurePoint Ag Systems, Inc. 

396-5529Y1
Hitch Mounted Tank Adapter Plate 

Mounting Instructions 

Kit Number: 530-00-800500 (Pedestal Adapter - 8” Hitch to 10” Hitch) 
Kit Number: 530-00-800510 (Pedestal Adapter - 8” Hitch to 12” Hitch) 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 400-5525Y1 2424Y2 Adapter Plate for 10" Wide Hitch 4 

2 Pedestal Tank Pedestal Provided with Your Tank Kit 2 

3 300-120200-5 3/4" x 2" Hex Head Bolt - G5 8 

4 300-120XXX 3/4" Long Hardware for Your Application 8 

5 323-12 3/4" Flange Nut 8 

Sure
Poin

t A
g S

ys
tem

s



 

396-5529Y1 - Hitch Mounted Tank Page 2 Revised: 1/24/2024 
Adapter Plate Mounting Instructions © 2024 SurePoint Ag Systems, Inc.  

1. Bolt the tank adapter plates to the bottom of 
the pedestals using the 3/4” x 2-1/2” bolts, 
washers, and nuts. Tighten the adapter plate 
to the pedestal. 

2. Use the extra adapter plates as backer plates 
on the bottom of the hitch. Using the long 3/4” 
bolt and hardware, mount the pedestal to 
hitch.  

3. Follow the provided tank mounting 
instructions for the remaining steps to mount 
your tank. 

Step by Step Instructions 

Step 1A 
Step 2B 

530-00-800510 (A) 

Step 2A 
Step 3B 

1. Place the long 3/4” hardware into the adapter 
plate first. The bolt head will sit under the 
pedestal once the adapter plate is bolted on. 

2. Loosely bolt the adapter plate to the bottom of 
the pedestal. This kit provides adjustment 
from a 9” to 10” hitch. Do not tighten adapter 
plate to the pedestals until the long 3/4” bolts 
are in your desired configuration. 

3. Use the extra adapter plates as backer plates 
on the bottom of the hitch. Using the long 3/4” 
bolts and hardware, mount the backer plates 
under the hitch. 

4.  Follow the provided tank mounting 
instructions for the remaining steps to mount 
your tank. 

530-00-800500 (B) 

Step 1B Sure
Poin

t A
g S

ys
tem

s




